ECE 342: Electronic Circuits Summer 2024
Problem Set #9 Professor Schutt-Aine
Due Date: Spm, Fri, July 19, 2024

vo(s) _ 10*
vi(s) s+103

1. Given H(s) =

a) Calculate the steady-state sinusoidal output v,(t) when v;(t) =1+ cos(100t) +
cos(1000t) + sin (10000t).

104
s+103°

b) Repeat part a) if H(s) = —

2. Sketch the Bode plots (magnitude and phase) of the following transfer functions.

a0 - 2%
o - 2%
¢)H(s) = — %.

D H(s) =

O H) = ey
fH)H(s) = %.
g) H(s) = _—10%(s+10%)

(s+103)(s+10%)’



3. Given the Bode plots (magnitude and phase) of H(s) =29 " find v;(t) if v,(t) =

vi(s) ’

cos(10t) + cos(103t) + cos(10°t) + cos(10°t).
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